
1. Em 98.437 o algarismo 7 vale: 11. Em 68.439 o algarismo 9 vale: 1. Em 98.437 o algarismo 7 vale: 11. Em 68.439 o algarismo 9 vale:

 a) setenta mil c) sete  a) nove c) nove mil  a) setenta mil c) sete  a) nove c) nove mil

 b) setecentos d) sete mil  b) noventa mil d) novecentos  b) setecentos d) sete mil  b) noventa mil d) novecentos

2. Em 35.624 o algarismo 2 vale: 12. Em 92.457 o algarismo 5 vale: 2. Em 35.624 o algarismo 2 vale: 12. Em 92.457 o algarismo 5 vale:

 a) vinte c) dois mil  a) cinquenta c) cinco  a) vinte c) dois mil  a) cinquenta c) cinco

 b) duzentos d) vinte mil  b) cinco mil d) quinhentos  b) duzentos d) vinte mil  b) cinco mil d) quinhentos

3. Em 26.973 o algarismo 9 vale: 13. Em 18.239 o algarismo 2 vale: 3. Em 26.973 o algarismo 9 vale: 13. Em 18.239 o algarismo 2 vale:

 a) noventa c) nove  a) vinte mil c) vinte  a) noventa c) nove  a) vinte mil c) vinte

 b) nove mil d) novecentos  b) dois mil d) duzentos  b) nove mil d) novecentos  b) dois mil d) duzentos

4. Em 43.879 o algarismo 3 vale: 14. Em 28.416 o algarismo 8 vale: 4. Em 43.879 o algarismo 3 vale: 14. Em 28.416 o algarismo 8 vale:

 a) três mil c) trezentos  a) oitenta c) oitenta mil  a) três mil c) trezentos  a) oitenta c) oitenta mil

 b) trinta d) trinta mil  b) oito mil d) oitocentos  b) trinta d) trinta mil  b) oito mil d) oitocentos

5. Em 38.451 o algarismo 3 vale: 15. Em 29.173 o algarismo 2 vale: 5. Em 38.451 o algarismo 3 vale: 15. Em 29.173 o algarismo 2 vale:

 a) trinta c) trinta mil  a) duzentos c) vinte  a) trinta c) trinta mil  a) duzentos c) vinte

 b) trezentos d) três  b) vinte mil d) dois mil  b) trezentos d) três  b) vinte mil d) dois mil

6. Em 87.165 o algarismo 5 vale: 16. Em 59.612 o algarismo 2 vale: 6. Em 87.165 o algarismo 5 vale: 16. Em 59.612 o algarismo 2 vale:

 a) cinco mil c) cinquenta mil  a) dois mil c) vinte  a) cinco mil c) cinquenta mil  a) dois mil c) vinte

 b) quinhentos d) cinco  b) duzentos d) dois  b) quinhentos d) cinco  b) duzentos d) dois

7. Em 54.973 o algarismo 7 vale: 17. Em 54.817 o algarismo 7 vale: 7. Em 54.973 o algarismo 7 vale: 17. Em 54.817 o algarismo 7 vale:

 a) setecentos c) sete  a) sete c) setenta mil  a) setecentos c) sete  a) sete c) setenta mil

 b) setenta d) sete mil  b) sete mil d) setecentos  b) setenta d) sete mil  b) sete mil d) setecentos

8. Em 56.819 o algarismo 8 vale: 18. Em 24.759 o algarismo 4 vale: 8. Em 56.819 o algarismo 8 vale: 18. Em 24.759 o algarismo 4 vale:

 a) oitenta c) oitocentos  a) quatrocentos c) quatro  a) oitenta c) oitocentos  a) quatrocentos c) quatro

 b) oitenta mil d) oito mil  b) quarenta d) quatro mil  b) oitenta mil d) oito mil  b) quarenta d) quatro mil

9. Em 47.562 o algarismo 7 vale: 19. Em 82.137 o algarismo 2 vale: 9. Em 47.562 o algarismo 7 vale: 19. Em 82.137 o algarismo 2 vale:

 a) setecentos c) setenta  a) duzentos c) dois mil  a) setecentos c) setenta  a) duzentos c) dois mil

 b) sete d) sete mil  b) vinte mil d) vinte  b) sete d) sete mil  b) vinte mil d) vinte

10. Em 47.628 o algarismo 4 vale: 20. Em 59.781 o algarismo 5 vale: 10. Em 47.628 o algarismo 4 vale: 20. Em 59.781 o algarismo 5 vale:

 a) quarenta mil c) quatro  a) cinco mil c) cinquenta  a) quarenta mil c) quatro  a) cinco mil c) cinquenta

 b) quarenta d) quatrocentos  b) cinquenta mil d) quinhentos  b) quarenta d) quatrocentos  b) cinquenta mil d) quinhentos
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